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PART A
Answer All (1 mark each)

1. Draw the structure of a doubly linked list?

2. What is sor�ng?

3. What is a sibling?

4. What is searching?

5. What is the �me complexity of bubble sort?

6. What is a node?

7. Expand FIFO.

8. Write the syntax of malloc()?

9. Define recursion.

10. What is the degree of a tree?

PART B
Answer any 8 (2 marks each)

11. What is the use of * (asterisk operator)?

12. What is linear queue in data structure?

13. What is the idea behind merge sort?

14. What is max heap tree?

15. Write inorder traversal of the following tree?

16. Difference between malloc() and calloc()?

17. What is the use of &(address operator)?

18. Define a C node structure for a linked list of students?

19. Translate into polish form:     ->        (A+B)*(C/D-E)+F)-G

20. What is binary search algorithm in data structure?

PART C
Answer any 5 (5 marks each)

21. Differen�ate between infix and pos�ix nota�ons.

22. Write the intermediate steps of bubble sort of the following: 5, 2, 12, 13, 4, 9, 15, 25, 3.
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(5 x 5 = 25)

(12 x 2 = 24)

23. Write all traversals of the following tree?

24. Give the prefix form of the following given expression using parenthesis.
\ (i) (A-B*C-D)/(E+F) (ii) ((A+B)*C-(D-E)^(F+G)).

25. What do you mean by Space & Time complexity of an algorithm?

26. What are the proper�es of the Heap tree?

27. Develop an algorithm to delete an element from a doubly linked list.

PART D
Answer any 2 (12 marks each)

28. Explain the following with suitable diagrams;
1. singly Linkedlist
2.Doubly Linkedlist
3. Circular Linkedlis�

29. Explain merge sort algorithm with example also write the c program.

30. Explain the infix to pos�ix conversion procedure using stack with an example.

31. A binary tree has 9 nodes. The in order and pre -order traversals yield the following
sequence of nodes.
In-order:      E  A  C  K  F  H  D  B  G
Pre-order    F  A  E  K  C  D  H  G  B
Construct the binary tree.
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